Efficiency vs P,

+0.05
o : : :
£0.045F -+ S FRRREEERRIEE Beeneenae RREREIEES
Z : : :

5 0.04F - freeeeees oo e
£0.035F -+ e e o
[C] o H . :
0.03 -+ f{ oo e s
0.025E -+ firoeeees e e
0.02F -+ e SRS e
0.015F - fireeeeeees eoseennend e
0.0+ oo SRS e

0.005f--+--seiemeeeess e SRR

o OF : '
R SR B R
a4 s
0.9 === mm i mrorre e
0.8-

— 3
107 1 10 '}BZF’T (Ge\}P

—=— DQM_old
—e— DQM_wrong
—— DQM_V0001_R000000001__Global__ CMSSW_X Y _Z RECO

Efficiency vs @

s 0.5

£0.09

2y

©0.08

Q@

(8]

& 0.07

[J]
0.06
0.05
0.04
0.03
0.02
0.01

+

T I T I T T T T

1.9 *

Ratio

=
L L

4

i

4

kg

- -

o

+

T

"

i

ks

+

g

+

g

w
b
AN
=
N
w

0.955



	Contents
	Page 1


